15. TIME AND WORK

IMPORTANT FACTS AND FORMULAE

1. IfA can do a picce of work in i davs, then A% 1 dav’s work = l
n

; 1 : A
2. WAR 1 day’s work = o then A can finish the work in o days.

3. If A is thrice as good a workman as B, then ;
Hatio of work done by A and B = 8 ; 1
Ratio of times taken by A and B to finish a work = 1 : 8.

SOLVED EXAMPLES

Ex. 1. Worker A takes 8§ hours to do a job. Worker B takes 10 hours to do the same
Job. How long should it take both A and B, working together but independently, to de

the same job 7 (IGNOU, 2003)
Bol. A% 1 hour's work = % B% 1 hour's wark = [!;i
1 1] 9
+ g O T
(A + BYs 1 hour's work [E m.| =

Both A and B will finish the work in % = al:— days.

Exz. 2. A and B together can complete a pioce of work in 4 days. If A alone can
complete the same wark in 12 days, in how many days can B alone complete that work?
{Bank PO. 2003}

So0l. (A + BYs 1 day's work = % A's | day's wark = 1]2

1 1 1

Bs 1 day’ k= l=m-—]|= =,
day's war 3 12] =
Hence, B alone can complete the work in 6 days.

Ex. 3. A can do a piece of work in 7 days of  hours sach and B can do it in 6 days

of T bours each. How long will they take to do it, working togethsr .E-ii honrs &8 day?

Bol. A can complete the work in (7 < 9) = 63 hours.
B ean complete the work in (6 = 7] = 42 hours.

! : 1 E
AR 1 hour's work = — and B's 1 howrs work l
[i%] 49
1,4 .8
3 42) 128°
126

Both will finish the work in T_.l hrs.
al

(A + Bis 1 hour's work = |

ff
Number of days of RE hrs each = L '-!'i] = 3 days,
5 1 o 4
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342 Chantitative  Aptitude

Ex. 4. A and B con do & piece of work in 15 daye; B and C can do it in 24 days;
A apd O cen do it in 36 days. In how many days will A, B and ¢ fimish ik, werking
togather and separataly 7
Sol, H+Bi'allilr’lwui-?1§.{ﬂ+ﬂ]‘llﬁ}r‘|wurh—%.
and (A + CVs 1 day's work = —

%

ﬁddiur.wtm:ﬂm+3+C:-’sLdt:.r’swnrh—’r—!-vi-tn 2 1.
LViB 24 38/ 72 8

1

113!-

Thusz, A, B and C together can finish the work in 16 days.

Now A's 1 day's work = (A + B+ CVs 1 day's workl — HB + CVs 1 day's work]
{1 T

(A +B +Crz 1 day's work =

16 24/ 48
A glone can finish the work in 48 daye.
il Rl

imilarly, B's 1 da powpoia e 2
e Jod B bt il 1 T3 T

B aloas can Bnich the Witk in 1?” . 23% dave.

16 18] 144
C alone can finish the work in 144 days,

E::.Ii A ia twice as good &8 workman as B end together they finish a pisce of work
in I8 daye. In how many daye will A slone finish the work 7

Bol. Eﬁ':ldl.:.r’:wntt]'iﬂ‘uldlz.r'iwurk:l—i:l.

1 ' 1
And, C's 1 day's work = (--._ )

{4 + BFs 1 day's work = ﬁ

Dlndef;mtheranuﬂ 1.

1 & 1
Als 1 day’s work F[EHE]I e
Henee, A alone can finish the work in 27 days.

Ex. 8. A can do & certain job in 12 days. B is 80% more officient then A. How many
days does B alope take to do the same job T

Bol. Ratio of times taken by A and B = 160 : 100 = 8 @ &
Suppoze B alone takes ¥ days to do the job.

Then, 8:65::12:x = Bresbx12 = xw?%d&p.

Ex. 7. A can do 8 piace of wark in 80 days. He warke at it for 10 days and then
B alope finishes the remaining work in 42 days. In how much &ime will A and B,
working together, finigh the work 7
1

1
Bol. WWkdnnchyﬂinlﬂdnjm=[Ealth1=E.
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L s P
R:mmnmgwurh-{l E:I 3

T
Now, 3 work is done by B in 42 dave

wﬁﬂil‘l‘ﬂlt"ﬂthdﬂnehfﬂlﬂ{#iu%]- 45 day=

1 1
A's 1 da WOk = =— g 51 ¥ 1 =
5 ¥'s W o nd B's 1 days work .

1 11} ] 1
‘l -p-" - - +—|=———.
A+ Bis 1 dav's work {EH]I ..~ 5%
Hence, both will finish the work in 30 daye.
Ex. 8. A and B undertake to do a piece of work for Rs, 600. A alone can do it in

8 days while B alone can do it in 8 days. With the help of C, thev finish it in & days.
Find the share of sach.

1 I 1) 1

Bol. Calda ; E = | = —

LA = [E's,l 24
A'H:E;Rﬁﬁunfﬂu':rld.a_\r‘nwurk=;:;:ﬁ-d-5:l.

A's share = Rs. fmnx ;} = Ha. 300, B's share = R I:EI‘H"]:-: i] = Ha. 285

L
C's share = Rs, [600 - (300 + 225)] = Rs. 75
R:.H.Amd'ﬂmﬁugupnmhb’mdn;phunrml in 9 and 12 daws

respectively. If they work for & day alternately, A beginning, in how many days, the work
will ba comploted 7

1 1 T
Sol. (A + BYe 2 days’ work = [§+]§:| = 2at

Work dome in 5 pairs of days -iax

ik 35 1
e =f(1-—|m —,

Remaining wor [ 35]
On 11th day, it is A’ turn. % work 15 done by hisy in 1 dav

’:-:i' work is done by him in [Bxé' . %:la;.'-

Total time taken = [l[l'd-%i days = H'J: days.

Ex. 10. 45 men can complete s work in 16 days. Six days after they atarted working,
30 more men joined them. How many days will they now take to complete the remaining
work T

Sol. (45 x 16) men can corrplete the work in 1 day
1

1 man's 1 day's work =

720
i A E
46 men's § days" work = % xElrl = % Remaining work = [1- g} - i

i) 5
- w1 iR
b men's 1 day's work -l



Ex.

Cluantitafive Aplfucde

Mow, TEE work is done by them in 1 day

E work is done by them in [%,?xg] = 6 days.

11, 2 men mdaba;-undnnpimﬁfwrk in 10 days while 8 men and 2 bovs

can do the same work in 8 days. In bow many days can 2 men and 1 bay do Lthe work?

Sol.

Let 1 man% 1 day® work = x and 1 bay's 1 day's work = »

'[‘hr:n,i:+3_r-.:—“anﬂ3.t+2:.r-i!.

. T
Solving, wa 1w = gl y =
ng Bet 300 ¥

100
£ 7 11 18 2
t2m+1bn:.'f=1d.n_y’anurt-[£!ﬁ+1=1MJ YT

26 1
So, 2 men and 1 boy together can finizh the woerk in i 125 daye

A I I S S T S E— — — — — — — — — — W T T TN TN T e e e S ——

EXERCISE 15A
(OBJECTIVE TYPE QUESTIONS)

Directions : Mark (v') against the correct answer :

L

A dooz a work in 10 dayes and B does the same work in 15 days. [n how many days
they together will do the same work 7 (E.E.B. 2003)
(a) & days (5 & days (¢} B days ey & days

A can finish a work in 18 days and B can do the same work in half the time laken
by A. Then, working together, what part of the same work they can finish in a day ?

1 1 . 2
(=) E i) -5 (] s (. =
(8.5.C. 2002)

A tyre has two punetures. The first puncture alone would have made the tyre flat in
O minutes and the second alone would have done il in 6 minutes, I air leaks out at
a constant rate, how long does it take both the punciures tagether to make it flat ?

K
(a) 1% minutes b a% minutes (€] 3% minutes Rt e SO
(D.M.R.C. 2003)
. A&, B and C can complete s piece of work in 24, 6 and 12 days respectively. Working
together, they will complete the same work in : (C.B.L. 2003)
1 T 3
Tt Ll - 4 d
() 2 dny (B 21 day il 3? dave [} AyE

A man can do 2 job in 15 days. His father takea 30 days and his son finishes it in
25 days. How long will they take to complete the job if they all work together ?
{a} Less than & days ib) Exactly & days
(¢} Approximately 6.4 days {d] More than 10 days

(Hotel Management, 2003)

A man can do a piece of work in 5 davs, but with the help of his son, he can do it in
3 days. In what time can the son do it alome ¥ (5.5.C, BOO4)

() a% days (b) 7 days (ch ?% days () 8 days
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12,
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A can lay railway track between two given stations in 16 dave and B can do the same
job in 12 days. With the help of C. they did the job in 4 days only Then, C alone san

de the job in (8.8.C. 200a3)

(a) 9% days ib) 9% days ic Eg days id} 10 days

A takes twiee a8 much time a8 B or thrice oz much time to finish a piece of work.

Working together, they can finish the work in 2 days. B can do the work alone in -
(5.5.C. 2002)

(a) 4 days (5) 6 days (¢) & days id) 12 days

1
X can do ry of a work in 10 days, Y can do 40 of the work in 40 days and 7 ean do

1
3 of the work in 13 daye. Who will complete the work first 7
() X (hy ¥ (v 2 {dh X and £ both

- P, Q and R are three typicts who working simultaneously can type 216 pages in

4 hour=. In one hour, K can type as many pages more than @ as @ can type more than
E During a period of five hours, R can type as many pages as P can during seven hours,
How many pages does each of them Lype per hour ?
(a) 14, 17, 20 (E) 15, 17, 22 (e 15, 18, 21 (d) 18, 18, 22
Ronald and Elan are working on an assignment. Hanald takes 6 hours %o type 32 pages
on a computer, while Elan takes 5 hours to type 40 pages. How much time will they
take, working together on two different computers Lo type an assignment of 110 pages ?
{al 7 hours 30 minutes (bl 8 hours
{1 & hours 15 minates (el B howrs 25 minotes

(SCMHRD, 2002)
Two workers A and B are engaged to do a work. A working alone takes 8 hours more
to complete the job than il both worked together. [f B worked alone, he would need

1
4 3 hours more to complete the job than they both working together What time weuld

they take to do the work together 7
(&) 4 hours (b 5 hours (e} & hours (di 7 hours

P tan complete a work in 12 days working 8 hours a day. Q can complete the same
work in 8 days working 10 hours a day. If bath P and @ work together, working 8§ hours

a day, in how many days can they complete the work ? (Bank PO, 1999)
B [ 5 &

(a) 5= ) B— 5 LB

a) T [ B ii {¢) E” idi E“

A and B can do & work in 12 days, B und C in 15 days, C and A in 20 days. If A, B

and C work together, they will complate the work in - (5.5.0. 1589)

(a} B days (b} T% days (e 10 days (d) lﬁg days

A and B can do a work in 8 days, B and C can do the same work in 12 days. A, B

and C together can finish it in 6 days. A and C together will do it in :

{a) 4 days (b & days (€} B davs {d) 12 days
(E.R.B. 2001)

A and B can do a piece of work in 72 days; B and C can do it in 120 davs; A and C
can do it in 80 days. In what time can A alone do it 7

(&} 80 daye (B} 100 days (e} 120 days (dl 160 days

A and B can do a pieee of work in 5 days; B and C ean do it in 7 days; A and C ean
o it in 4 days, Who among these will take the least time if put to do it alene 7
() A (b B (& C (o) Dhats imndecpante
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Cuaniitative Apkifude

A can do & piece of work in 4 hours; B and C together can do it in 3 hours, while A

and C together can do it in 2 hours. How long will B alone take to da it 2

{a) B hours ih) 10 hours ic) 12 hours {d) 24 hours

(8.5.C. 2002)

A can do @ certain work in the same lime in which B and C together can do it. If A

and B together could do it in 10 days and C aloma in &0 days, then B alone could do

it in : {8.5.C. 2003)

() 15 days (b 20 daye i) 26 days (d) 30 doys

A works twice ag fast ag B. If B can complete a work in 12 days independently, the

number of days in which A and B can together finish the work is :

(g} 4 days (k) & days () B days fdi 18 days
(Asatt. Grade, 1997)

A fs twice g good a workman ne B and together they finish a plece of work in 14 days

The number of days taken by A alone to finish the work is

{ad 11 (b 21 (c) 28 () 42

A ie thrice as good a workman as B and therefore is able to fnish o job in 60 days
leag than B. Working together, they can da it in : (8.8.C. 1888)
(a) 20 days (B} EE% o (0 % days () 20 days

A and B ean do a job togelher in 7 davs. A & l% times as afficient as B. The same
job can be done by A alone in : (8.8.C. 2003}
(a) n% days (by 11 days fch 13% days id) u;% days

Sakshi can do a piece of work in 20 davs. Tanya is 256% more efficient than Sakshi,
The number of days taken by Tanya to do the same piece of work is -
{a) 15 (b1 18 {(e) 18 (d) 25

Hotel Management, 2003)
A is 30% more efficient than B. How much time will they, working togethar, take ta
complete a job which A alone could have done in 28 days ?

{ad 11 days bl 13 days e M% days {d) None of these

(Hotel Managomaont, 1098)
A does half as much work as B in three-fourth of the time. If together they take 18
days to complete the work, how much time shall B take to do it 7
(m) %0 days (b} 35 days (e 40 days id} Mone of these

A g 50F% as efficient as B. € does half of the work done by A and B together. If C alone
does the work in 40 daya, then A, B and © together eon do the work in ;

(a) 13% duri (b 15 days {dl 20 days (dh 30 "days
Two workers A and B warking together completed a job in 5 days. If A worked twice

1
as efficiently as he actually did and B worked 35 as efficiently as he actually did, the
work would have been completed in 3 days. A alone eould complete the work in :

{a) 5% duy (bl E% days (& 7-;- days (dy Mome of these

A can do a work in 15 days and B in 20 days. I they work on it together for 4 days.

then the fraction of the work that is left s : (8.5.0, 2000)
l b ..L l i l

() (B 95 (8 '3z ) T
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32

A can finish a work in 18 days and B ean do the same work in 15 dave. B worked for
10 days and lefi the joh In how many daye, A alone can fimish the remaining work ?

1 -
fa) & (b 5-3; (ch & (d 8

(Bank FPO. 2002)

A and B ean complete 2 work in 15 daye and 10 days respectively. They etarted doing
the work together but after 2 days B had to leave and A alone completed the remaining
work. The whole work was completed in - (B.5.C. 2004)
(2) B days (b} 10 days () 12 dave (d¥ 15 daye

A can finish a work in 24 days, B in 0 days and C in 12 days. B and C start the work
but are forced to leave after 3 dave. The remaining work was done by A in :

1
(&) 5 days (b} 6 days (gl 10 daws il IUE days

(B.5.C. 2003)
A machine P can print one lakh books in 8 hours, machine € can print the same
number of books in 10 hours while machine R ean print them in 12 hours, All the
machines are started at 9 a.m. while machine P is closed at 11 a.m. and the FemAining
twn machines complete the work. Approximately at what time will the work be
finished 7 {(Bank PO, 2003
(a) 11:30 a.m. (i) 12 moon (e} 1230 p.m, (4} 1 pm.
A and B can do a piece of work in 30 days, while B and C can do the same work in
24 daye and C and A in 20 days. They all work togeither for 10 dave when B and C
leave. How many days more will A take to finish the work ? (C.B.]. 2003)
(@) 18 days (h) 24 days (e} A0 daws (d} 36 days
Xand Y can do a piece of work in 20 days and 12 doys respectively X started the work
alone and then after 4 days ¥ josned him till the completion of the werk. How long

did the work last ? (Bank PO, 2004)
(a) 6 days (& 10 days tel 156 days (d) 20 days

A and B can together finish a work in 30 days, They worked together for 20 days and
then B left. After another 20 days, A finished the remaining work. Tn how many days
A alone can finish the job ? (8.8.C. 2003)
{a) 40 by 50 e} G4 () BO

X can do a piece of work in 40 days. He works at it for 8 days and then ¥ finished

it in 16 days. How long will they together take to complete the work ?

s 13% diye (b) 15 days id) 20' days {d) 56 days

(Hotel Management, 1989)
A, B and C together can complete a piece of work in 10 days. All the three started
working at it together and after 4 days A left, Then B and C together completed the
work in 10 more days. A alone could complete the work in

[a) 15 days (b} 18 days (e} 25 days (d) 50 days

4
. A doss 5 of @ work in 20 days. He then cslls in B and they together finish the

remaining werk in 3 days. How lmg B alone would take to do the whole work 7

(a) 23 days {b) 37 days e 37% e (d) 4D days
(8.8.C. 2002)
A and B together can do a piece of work in 30 days. A having worked for 16 davs,

B finishes the remaining work alone in 44 days. In how many days shall B finish the
whole work alone ? (C.B.1. 1847)

{a) 30 days (B) 40 days (ch 60 davs id) T days
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Cruantitatrve Aplitude

A and B togoether ean do a piece of work in 12 days, which B and C fogether cia de
‘u1lE:h;ra..M't:rhha.ul:unwu'ltinarntiwaﬁdwamcheramﬂhishHil
in 13 days. In how many days C alone will do the work 7
(&) 16 (b 24 {c 36 {d) 48
A and B can do 2 piece of work in 45 days and 40 days respectively. They began to
do the work together but A leaves after some days and then B completed the remaining
work in 23 days. The number of days after which A left the work was :
(al 6 by B {ch 89 (e 12

iBank PO, 1988}
A can do a piees of work in 14 days which B can do in 21 days. They begin together
but 3 days bofore the completion of the work, A leaves off. The total aumber of days

to complete the work is © (R.R.B. 2002)
3 1 1 1
| = b B= e 0= (di 13—
(al EE LB} 2 = 2

e )
A, B.and C can complete a work separutely in 24, 35 and 48 days respectively. They
started togother but C left after 4 days of start and A left 3 duys belore the completion
of the work. In how many days will the work be completed 7
(a) 15 duyvs (bl 22 days el 35 dnys {dh-35 dave
A, B and C together earn Its. 300 per day, while A and C together earn Rs. 188 and
B and C together carn Ra. 152, The daily earning of C i -
{a} Rs. 40 (b} Rs. 88 ied Rs. 112 (d) Rs. 150

. A, B and C are emploved to do a piece of work for Fs. 529. A and B together are

supposed to do ;—3 of the work and B and C together % aof the work, What ameouant
should A be paid 7 (C.B.1. 1997)
(a) R 315 (b} Ra. 345 {c} Bs. 455 (dy Rs 376
Kim can do a work in 3 doys while David can do the same work in 2 days. Both of
them finish the work together and get Rs. 150. What is the ghare of Him *

(&} Ra. 30 (b} Rs. &0 {ct Rs. TO {d) Re. 75

(8.5.C. 1999)

1 1
Il A con do 2 of a work in 2 days and B ean do G of the same work in 4 days, how

much will A get if both work together and are paid Rs. 180 in all 7

(m) Rs. 36 bl Rs. 60 (e} RBs. 108 (d) R=, 120

A alone can do a piece of work in 6 days and B alope in 8 daye. A and B undertock
to duo it for Rs. 3200. With the help of C, they completed the werk in 3 days. How much
iz to be paid to C ? (8.8.C. 2004}
{m) Re. 375 (b Ms. 400 (¢} Ra 600 fd) Rs. 80O

A sum of money is sufficient to pay A's wages for 21 days and Bs wages for 28 days.
The same money iz sufficient to pay the wages of bath for -

(a) 12 days (B m-: days () 14 days (dl m% days

A can da a picce of work in 10 days; B in 15 days. They work for 5 days. The rest of
the werk was finished ty C in 2 daye. If they get Rs. 1500 for the whole work, the daily
wages of B and O are :

ta] Rs. 150 (b Hs. 225 (¢ Rs. 260 (e} Re. 300

A and B together can complete a work in 12 days, A alone can complete it in 20 days.
1¢ B does the work anly for half a day daily, then in how many days & and B together
will complete the work 7 (R.R.B. 2003)
iy 10 day= (b 11 days ie1 15 days idi 20 days
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53. A alone can complete a work in 16 days and B alone in 12 days. Starting with A, they

BT,

Gl

work on alternate days. The total work will be completed in - (B.5.C. 2004)
{a) 12 days (b) 13 days (e 13-1;1 days idh 13‘1i davs

- A.Band C can do o piece of work in 11 duys, 20 daye and 55 days respectively, working

alone. How seon can the work be done if A is assisted by B and C on alternate days ?

(a) 7 days ikl 8 days (¢} Dedays id) 10 days

A, B and C can do a pieee of work in 20, 30 and 60 days respectavely; In how many

days can A do the work if he is assisted by B and C on every third day 7

{a} 12 days (b 15 dayvs fch 16 days id) 18 daye

(R.E.B. 2002)

A and B ran separately do a piece of werk in 20 and 15 days respictively. They worked

logether for 6 days, after which B was replaced by C. If the work was finished in next

4 duys, then the number of days in which C slone could do the wark will be :

(&) 30 iby 35 (e 40 () &

A, B and C can do a piece of work in 38, 54 and 72 days respectively. They started

the work but A left B days before the completion of the work while B left 12 days bafore

the completion. The pumber of days for which O worked is -

=) 4 -] (e} 12 idy 24

Twenty women can do a work in sixteen days, Sixteen men can complete the same work

in fifteen days. What is the ratio betwesn the capacity of # man and a woman J

a) &:4 (B} 4:3 (g} & :3 (d) Data insdegquate
(B.5.H.H. 15988)

10 men can complete a pisce of work in 15 davs and 15 women can complete the same

work in 12 days. If all the 10 men and 15 women work together, in how many dayvs

will the werk get completed 7 (B.BLTO. 1899)

fal 6 { b El (e} -EE ) TE
g 3 3

Seven men can complete a work in 12 days. They started the work and after 5 days,

two men left. In how many days will the work be completed by the remaining men 7

La) & (h & el ¥ di 8 (¢ Neone of these

12 men complete a work in U days. Afler they have worked for 6 days, 6 more men

Juin them. How many days will they take to complete the remaining work 7

(a} 2 days (b} 3 days (e 4 davs (d} & dova (g} None of these
(RL.RB. 3002)

Three men, four women and six children can compléte a work in seven davs. A woman
does double the work a man does and a child does half the work a man does. How

many women alone can complete this work in 7 doys 7 (B.B.L.LPO. 2003)
Lal T ihl B (ch 12
[df Canmot be determined in Mone of these

A man, a woman and a bay can complete & job in 3, 4 and 12 days respectively How

|
many boys must assist 1 man and 1 woman to complete the job in 3 aday?

{a) 1 ik 4 () 19 id} 41

(8.5.C. 2000)
10 men and 15 women together can complete & work in 6 days. It takes 100 days for
one man alere to complete the same work. How many days will be required for one
woman alone to complete the same work 7 (Bank RO. 1883
P (b 125 () 145 id) 150 (g} Mone of these
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12 men can complete o piece of work in 4 days, while 15 women can complete the same
waork in 4 days. & men start working on the job and after working for 2 days, all of
them stopped warking. How many wamen should be put on the job to complete the

remaining work. if # ig to be completed in 3 days 7 (5.B.1.BO. 2000)
(al 15 by 18 i) B2
(d) Data inadequate (&) None of these

Twelve children take sixteen daye Lo complete a work which ean be completed by mighl
adults in twelve days. Sixteen adults started working and after three days ten adulis
left and four children joined them How many days will they take to complete the
remaining work 7

(o) 8 il 4 (=N id) & (o} None of these

10 women can complete & work in 7 days and 10 children take 14 daye to complete
the work. How many days will 5 women and 10 children take to complete the work ?

(a) 3 ih B e 7

(d) Cannot be determined {g} Mone of theas (Bank PO. 2003)
Sixteen men can complets & work in twelve days. Twenty-four children can complete
the same work in eighteen days. Twelve men and eight children started working and
after eight days three more children joined them. How many days will they now take
to eomplete the remaining work 7

(a) 2 days (b) 4 daws ich & davs idl & davs {& None of these

Twenly-four men can complete a work in sixteen days. Thirty-two wormen cin complete
the same work in bwenty-four days. Sixteen men and sixteen women started working
and worked for twelve days. How many more men are to be added to complete the
remaining work in 2 days ? {Bank PO, 1999)

{a) 16 (b 24 (el 3G id] 48 (e None of these

f men and 2 bove working together can do four times as much work ns a mun and
a boy Working capacitics of a woman and a boy are in the ratio :

(a) 1:2 % 2:1 el l:3 fdy3:1

If 12 men and 18 boy: man do a mece of work in 5 days: 13 men and 24 boys can do
il in 4 days. then the ratic of the daily work dene by a man 1o that of a bey is -

Lay 2 :1 By a:1l (ch3:2 (d) 5 : 4
(8.5.C, 1890)

4 men and 8 women can complete a work in B days, while ¥ men and 7 women ean
complete it in 10 daye. In how many days will 10 women complete it 7
{a) 35 (b 40 {c) 45 {dl 50

(8.8.C. 2004)

O man, 3 women and 4 bays can do a piece af work in 98 hoors, 2 men and 8 boys
can do it in 80 hours, 2 men and 3 women can do it in 120 hours. 5 men and 12 bays
can do it in :

() 3E~]1—1 hours (§1]] 4‘2% houars {eh 43% haurs idh 44 hours

If & men and 8 boys can do a piece of werk in 10 days while 26 men and 48 boys can
do the same in 2 days, the time taken by 15 mon and 20 bovs in doing the same Lype
of work will be : (2.8.C. 15999)

() 4 days b & days () 6 days (d) 7 days

—— —— | — — — — — — T —— — — ————————— — s = = = m—
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ANSWERS
L{b 2 (s & ic 4. (e 6. (a2 6. (& T. (e B. (6} 9 (g
0. {8 1Lie 12.0(ch 1B (e 14 (&9 16. (& 16 (& 17 (a) 18 i(c
19. (&) 20.ia) ZL (B 22 (& 23 (b 24. (b 25 (k) 28 (a) 27 (&)
28 (b 29 (4 30, (c} AL () B2 () 29 () B4 (n) 35 (H) 28 (4
37. (a) 98. 10 39.(c) 40.(c 41. (k) 42 (ol 43 (o0 44. [(a) 48 (&)
46. (b) 47. (k) 48, (di 49. (B BO. (a) 51 (b 52 (& 58 () G4 (b
B6. b B6 ich BT.(d) BB. (b 59 (& 60.(a 8L (a) B2 (a) 83 (d
B4 () BB (a) BB (&) @7.(c0 @8. (B 68.(8 T0. (B TL (&) T2 (B
T3 ¢} T4 (a)
SOLUTIONS
}i "W = l 'u -!.-
L A% 1 days wark mandH‘sldag,- muril-:_lﬁ.

f
(A + BYs 1 day’s work -{%r%] -_.:I.

So, both together will finish the work in 6 days.

: 1
2 A 1day's work = == and B 1 days work -%_

1 1} 1
A+ B T L
(A + Hfe 1 dav's work [|E+5_.l =
1.6
8" 18
So, both the punctare : will make the tyre flat iz lﬁﬂ - 3-‘: min.

I
3. 1 minute's work of both the panctures = | ; *
!

i m+B—ﬂ]'31dnﬂm1:-_{l-t]_-lija_.?_,
AT

So, A, B and C together will complete the job in 2;' =3? days,

[ 1 1 e 47
&, 1 day's work of the three persans = | —+ —+— | = -
P {!E 20 25 300

B all i tores Rigithie: will cosisiote Ui witk % o A Ay

™ 1 e 1.1y, 2
6. Son's 1 dav's work [E E] T

The zon alone can do the work in % = T% days.
T.H+B+Cf!ldnf5iﬂll’k-i.ﬁ'ﬂ-ldﬂy”ﬁwurk:%, H':]d]fswurh:%_

. 34 M1 | A il wdrB i B
Cu.ldl}r'uwnrk-d [IE*I'J.' [-i EJ_E

So, C'alone can 6 the werk i -“5“ : 93 i,



Cuantitalive Apdituda

8. Suppose A, B and C take x :m:lf!—t hours respectively ta finish the wark,

MI [l-ji.ﬂ.i]_l =3 E_l
el

I xr x ]
So, B lakes § hours to finish the wark,
8. Whale work will be done by X in {10 = 4) = 40 days,

Whole work will be done by Y in [mn%l = 100 days.

= == IR

Whale work will be done by £ in (13 = 3] = 39 days.
Z will eomplete the work first,

10. Let the number of pages typed in one hour by P, @ and R be x » and z respectively
Then,

216

_-p;+_-|,-+17--4 =4 X+ v r= 04 kD

E—F=¥-—x == 2y=x+x —{Edy

dr=Tr = X = i: ..[REED

T
Solving (6, (10 and (i), we gel x = 16, y = 1B, z= 21,

11. Number of pages typed by Ronald in 1 hour = % = %

Numberd'pagautypadhrE]min]hpw—i:-rﬂ.

MNumber of pages typed hy both in 1 hour = {%-r!l] - d?ﬂ_
!

Time Laken by both i type 110 poages -[tli}x%] !‘I-'I‘!-B% hre = A hre 15 min.

&

12 Let A and B together take x hours o complete the werk. Then,
A alome takes (x + B) hrs and B alone takes [: i E] hre to complete the work, Then,

1 1 1 1 )

+ - =3 +
[z + 8} [""EJ x (x+ 8 (2r+3)
Z

—% = Xidx+ 23 = (x+ 8) (2x + 9}

=» 22 =72 = P*ad = x=b
13. P can complete the work in (12 = &) hrs, = 96 hrs.
Q can complete the work in (8 = 10) hrs, = 80 hrs,

i 1 hour's work = % and @% 1 hour's work = ?I“T

1 1 11
(P + Vs 1 hour's work = [E+EJ = T

I
So, both P and @ will finish the waork in l l‘f::l] hrs

480 1) 60 b
Number of days of § hours each = | =— -] == - 5 i
i 1 “EJ 7 dave. b deme
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4. A+ Bla 1 day's work = I]E'. (B +Crs 1 day's work = "'-115: (A +10s 1 day's work ‘—-1 :
i 1 1 RREre I, el | e
A |r Sad b el i 0 il
Adding, we get : 2 (A + B +« Cfz L day's work = -.12‘15 ED,I 3

{-ﬁ-+B+LT!1d.ay’twwk‘-ﬁ

S0, A, B and C together can complete the work in 10 days.

16. (A + B + CFs 1 day's work -é' {A + Bi's 1 day's work —%

(B 4+ CFs 1 day’s work _1—11.
. . Ly {1 1} [1 5} Brminl
Cr - — =t 5 == T o
(A + Cle 1 day's work [EH{;J [5+ﬂ e v 3
S0, A and C togethor will do the work in B days.

1 1 1
186, Brs1 =—: (B T — + Y -
(A + BYs 1 day's work 7 i +Csldn;,r'snrr_rknuu (A +Cre 1 day's work 5

[ 1 1 1] 12 1
Addi + Clf'z 1 w B | o e | e W
i, we get : 2 (A + B J day’s work [Tﬂ 120 S0, 360 - 30

= A+ B+ Vs 1 day's work _-E!-ﬁ

1 | 1

A= 1 ‘h}-' k =fu_'-_ =

B : |60 120/  1z0
A alone can de the work in 120 days.

17. (A + B)Y's 1 day's work = é'. (B +Crs 1 day's work = ]?: 14 = C¥e 1 day’s work = %

: kil amd &d
5 b2 A+ B+ CF Blarod == —
Adding, we ge * w 1 day's work {5‘74‘-{] 7
1RFE+CJ'!?ﬂﬁr'£wn.rh-E.
220
(83 1 43 B2 1Y 13
AR 1 days wirtk = |=—==| = —: BB 1 dav’ W[.[_H_“-__.i
r V250 V) 280 - 280 4, 280
' i (B8 1) o7
C's 1 day's work = %80 " 5l = 5%
Tﬁuﬁllmcwkmhrﬂﬂﬂa%ﬂj‘l, d:ym—dtyu respectively

Clearly, the time taken by A is least,

1B. A% 1 hour's work = -I (B + Cre 1 hour's work =-~,- (A + C)s 1 hours work =

(=%
I-Fll—‘

i1 1
[&+E-+C1'=1hm&m-hvh '%,I

g ) A _I
Btll'-ﬂur"swurl-[m E] TH

B alone will take 12 hours te do the work,



W.M+Bﬁldu3‘swﬁrk—#; s 1 duy's werlk ===,

21

|"
(A + B + CFs 1 day's work _lm “'—

GO

5.2
B0 26

Mm&sidnynml::fﬂ+ﬂ1‘:ldny'amu—k

From (1) and (i, we gel : 2 x (A% 1 days work) = 2

4

f
B's 1 day's work = ll—-?-] o W

10 6D

Al 1 day’s work

] 11
i+ Bis 1 day's work = | =+ —
i 16 1%}

(A + BFs 1 day's work = H

Dhvde 'l{l' in the ratio 2 ; L

(1 _E)

A's 1 doy'’s work = L—:-.-. - —

14 3)

2

50

Se, B alone could do the work in 25 days.
Ratio of rates of working of A and B = 2 : 1, S0, ratio of times taken = 1 : 2.

1

3

12
S0, A and B together can finish the work in 4 days.
(A= 1 day’s work) : (B's 1 -:In:r':u work] = 2 1,

21
Hence, A alone can finish the work in 21 days,

. Ratio of times taken by A and B = § ; 3

=%‘.- B 1 diy’s wark = —.

E .

1

25

12
1

.

If difference of time 15 2 days, B takes 3 days.

If difference of time is 60 doys, B takes _:"2

hﬂhkﬂ&ﬂdﬁ?ﬁtﬂdnmnwrh

As 1 day's work = 3

11"

(A + Bls 1 day's work = [ED oa ]

q

i B 1 day's work =

T

A and B together can do the work in

(3

X
w0’
i

4

46 .1
2 - 322 days.

(A's 1 doy's work) : (B 1 day’s work) = %:1 = Tode

Let A’z and B% 1 dav’s work be Tx and 45 respectively

1

1
Them, Tx +4x = = Ilx ==
n, Tx+dx =z = lix=c

AN 1 day's work = {—ﬂ-

=

1

-

1

x

1

T

i-i:ﬂ'l:l] = B0 days.

Cuantitative Aptitude

kD
A}
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24. Ratio of times laken by Sakshi and Tanya = 125 : 100 = 5 - 4
Suppose Tanyva takes x days o do the work.
4= 200
5 )
Heonce, Tanya takes 16 doys o complete the werk.
26. Ratio of times taken by A and B = 100 : 130 = 10 : 1%
Buppose B takes x days to do the work

5:1::2&::-_&.1;_[ = g = 18 days.

Them, 10: 131 23: x = :_"IEJ'L]_E] . 299
i 10 10
A 1 day's work = —; B's 1 days work = .
24 299

4 1 10 23 1
(A + BT 1 day's work h[ﬁ-‘-ﬁ_ﬂjtﬁ T
& Aand B together can complete the job in 13 days
28, Suppose B takes x days to do the work.

A lakes I:'-!::?::J: 3: davs to de it

(A + BY's 1 dav's work « %.

-Lirl—iur::}lﬂ.
x 3Ix 1B

27. (Az 1 day's work) : (B's | day’s work) = 150 ; 100 = 3 ; 2,
Let A's and B's 1 day's work be 3x and 2x respectively

Then, Cs 1 day's work = [h;hJ . 5?{
.5';: I.mf-[ile\!- !'_
2 40 40 5, 100
3 1 1
A's 1 days " i - e
1 davs work ]m.,ﬂ-'sldaq.r'icwarh m.[:'sld.ny'swnrk T
' . 1 11_15 _ 8
l-l"l-lRir'l.','!flululiﬂ,tr'y.iva'-ln-k-r[lm-l-ﬁu+ﬁ]_Im,l:I T

5o, A B and C tegsbber .80 tha work in % -13%{1533.

28, Lot A's 1 day's work = x and B's 1 day’s werk = »

1 5 il 1
Then, x+ v Eand.&:iiy-i.

1

4
Sal y b:x = — gnid ¥y = —.
VIO, Wi g a 0 and ¥ 5

4

Al 1 day's k= —,
ol A

S0, A alone could eomplete the work in %—E&dn]m.

1 1
, Ak . = —: B -~
28, Ax 1 days work T B 1 day’s work g

1 1 T
-+ B - e— e i —
A+ Brs 1 day's work :.151.213'}



: I Wl
(A + BJs 4 days Wkl[ﬁt';nﬁ

f LT
=15

Remaining work =- 1 -
|

T
1G5
. Bz 10 days” work = f'% ] . Remaining work = [
f

Now, ]}Ei work is done by A in 1 day

A f }
%wnrki;dmhy:\in 1151%5=E days.

1 1
. A+ BVs 1 day's work = [FI'E* ?ﬁ] =

2
=

Cuantitative Aptitude

i
.

11

\ 2
Work done by A and B in 2 days —[;‘J-!Ej- % Bemaining waork "[1——'== -

Ty, % work i5 done by A in | dax

%wrkmﬂbedmeh:rﬁ.m 151{%1!—10 daye.

Hence, total lime taken = {10 + 2] = 12 davs.

= 1 T
(B + Cla 1 day's work = ( 1‘3] 4
wnrtdnuhynaJaLmadays_f7 3]-- L
- 12
. 7Y &
Renmni.n;wnr}L:[i—l—J:E

Mow, -;: work is done by A in 1 day

5

Bo, .3 work is done by A in I:'-HK—' = 10 days.
12 12

1 .. L 1 37

. " + Q + R¥e 1 hour's waork "Eal-m hm]h TTh

. T,
Work done by P @ and B in 2 houra -[13352}:
L 47 23
He k= [1 i |
mAlning wor = | = &0
S N
1 + Bi's 1 hour's work —[ﬁ+1—l-z:_m.
11 ; .
Hunw, 0 work 18 done by & and K in 1 hour
(gD .23

23 .
Bg. B work will be done by § and B in L1l ".ED‘.I'

5o, the work will be finished approximately 2 hours after 11 am.,

g4

ar &

— haurg = 2 hours

ia, arcund 1 p.m.
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34.

arT.

f b’
. (A +B's 20 days” work = | == 20| = = Remaining work —

. Work done by A, B and C in 4 days -[ix-i] = =, Remaining work = [1—§)= E.

1 1 1] 6 .1
2iA+«B+Cs1da _[—+—+— L ;
¢ R " L30 24 20) 120 B

- Lﬁ.tB+ﬂJ‘slﬂ.&fu#¢r&-llE.

Work done by A, B and € in 10 day=s -%n E Remaining work = [I-%)- %

A's 1 day’s work = l?[lé-%] = %

1
HU'I'.E worsk is done by A in 1 day
i
2 work will be done by A in 1451§]=1E-da,m

Gl

’ 1 1 e | L] 1
Work dome by X — x| = =, =ll-=|= =,
by X in 4 dayzs = [.d‘l:l N ] 5 Remaining work il . z

11 8 2
20 12 3

m+?fﬁld.ujr"5wg]-h:[...+__

2
Mow, —7 work i5 done by X and ¥ in 1 day

15
So 4 3 R s |l
" E wkwdlhd#mbﬂf.md?mi?ng = & days.
Hence, total time taken = (6 + 4) days = 10 davs.
1 2 []_2‘!_1
% ) %
B
Nﬂiwﬁhdmhjﬁiniﬂdaﬂ.
Whele work wil, be dome by A in (20 = 3) = 60 days.

Work done by X in 8 days = [5508 | = L. Remining work = [1- 1] -

|

4
i 3 work iz dene by Y in 18 days.

Whele work will hadunaby‘l’iu.(lﬂ-x%:- 20 days.

X's 1 day's work = -i!i. Y'e 1 day's work = %

: 1 1) 3

X +Y)'s 1 day' I:=[— I

+ 116 1 day's wor HI*E'CI? 0
Hence, X and ¥ will together complete the work in ? = ]3% days.

2

10 B G

3
Nmiwrhudmhyﬂmdﬂinmdaw.

1
Whole work will be done by B and C in [mx%;-%m-
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Cruantitative Aptibude

(A+B+0Crs 1 day's work -#, (B + Ci¥s 1 day's work E%

As 1 day's work = L E] : L

_ = o i —

L -] 60 25
& A alone could complete the work in 25 days.

Whole work is done by A in (20 2| - 25 days.

i
Mo, [1-%; LE, % work s done iy A and B in 8 days

Whale wark will be done by A and B in (3 = 5) = 15 days.

ﬁruldufawk—;b. [ﬁdﬂ}'alchfgwwhfl_i_

B'nldnfnmk-(i-l]-lai-
15 25) 150 75

80, B alone would do the work in ’; = :.w; dai.

. Lot A's 1 days work = x and B% 1 day's work = p

’l’han.:+;‘-%udlﬁ:+-ﬂy-1.

: " 1 1
Sal these ¢ tinns, Pk — gl P m—,
ving thesa twoe aquationa, we gol | x 5o 2od y = o

B's 1 day's wark = é
Hence, B alene shall finish the whole work in 60 days.
A 5 days' work + B's 7 days” work + C's 13 days” work = 1
= (A= Ble b days” work + (B + C)% 2 days” work + C's 11 days" work = 1

] 2
=4 Efﬁ + %8 11 days” work = 1

11

= C% 11 daye’ work = 1= r_ﬂé -%]:EE

#1001y 1
Cald NP | = —,
R R 24110 24

C alone can finish the work in 24 days,

r
= . Remaining work _“_E.:l"!.

Fﬁ:t‘kﬂnmh}'ﬂinﬁ@: i
Y

-2

17
HMEEE work was done by (A + B) in 1 day

:.-; work was dene by (A + Bl in {1#1—3?3% = 9 days.

4

A left after 9 days.

17
Al
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47.

T

1 I]: 5
B k i e |
(4 + BYs 1 day's wet ""[“*EII. 49

]
Hﬂtﬁwkiadon:hjﬁmdﬂinldl}

8 work iz done by A and B in [ExE - 3 tays.
T B 7 ]
3 36 i
Hence, total time taken = 3*? dm—,]ﬂ-g days.

LY

i L g 13
(A + B + Cr's 1 day's work [2-1*36*15,' T

13 i B
‘Hnrtdunzb}*m+]3-ﬂ}ind.d.ny:1[14;1:-1;-:%.

36

wmmtbj'ﬂmﬂdl}l'B:[—]ﬂxa] I.qu.l,-i_n:iuwuﬂt' []—[%-p%)}u

12

(A + Bf's 1 day's work -[i+ I
e 24 86, 12

H BT — = = B '
oW, 72 “ﬂ'kiﬁtﬁ.ﬂ]lb}'ﬁll’l‘dﬁlﬂ I\:’Hg] dl:'r'

Henco, total time taken = {4 + 3 + B) days = 15 days.

. B's daily earning = Hs. (300 — 188} - Rs. 112,

Ae daily earning = s (300 - 152) = Rs. 148,
C's daily carning = Rs. [300 - (112 + 148]] = Rs 40.

"i'i‘urlidnnuhj.rﬂ-rl—!g-ﬁ—l-ﬁ
) | "] &
15 8
DL == e =
A(B+C) 23’ 23 15: &
15

So, A's share = Rs [Eﬂﬂﬁﬁﬂ'] = Ra. 346,

Kim's wages : David's wages = Kim's 1 day's work : David's 1 day’s work

™ .11
] = E E.'.
308 i

Kim's share = Hs, [%x!.‘rﬂ] = Ha &0

r

. Whole work is done by A in (3 % 4] = 12 daye.

Whale work i# done by B in (4 = 6) = 24 days.

A{uwlm:Ehm-ﬂklﬂfawprh;ﬁ‘:ldafumk=:—E:

A share = Ra. !%:-: mn] - Pé 120,

, Yoy IL -l 1] - ,—l—E
43, B's 3 days' work [mxﬂ] . Remaining wael [1 '."]"i"

5
1



Quantitative Aptitude
3 1 11 1..0F 1
lﬂ.ﬂ'l]d.l}'iwu‘rk E(Efail S_E.Eﬁ
1.1 1
Al : B s ===l ——wmdF-]
wages WEESE WIEES R 3

C's share -na..|-;;n.'!mn_ = Rs. 400.
h 4
50, Let total money be Rs. x

A’s 1 day's wages = Rs. EIT' B'r 1 day's wages = Fa. ﬁ

\ x

m+aﬁ1m“a-m_[l e

i 31 %8) 13
Hme;lunﬁchntmmlhmuafbmhﬁnrmmm

i
51. Part of the work done by h-[%xﬁj =

2
Pﬂﬂﬂfﬂiawnrtdmahyﬂz[.llgxﬂ: %
1 1
Part of the work done by C = 1 - [545} -1
Sﬂ.tﬁtahare}:tﬂ'auhm}:[l:hnhmr=2:§:T: = 3:2: 1L

ﬁ'sahm-H.t{ :-EIEEIH]:H.I Ta0, B':uimre*h{%xlErMJ Ha. 50O,

C's share = Rs, [EI:-: Iﬁm} = Hs. 2860,

]-H‘.i.llll.'l:
C's daily wages = m[*;‘“] Rs. 125.
Dlil}'Wa.m:lnIBlul:lﬂ=H.uIIDD+1HEJ—R!.25‘-E.
1 11 2
62, B's 1 day's work (12 E&J—E E'EI
Hnu:,{;l+B}'31dlr'=wwl:-{J— Ti% -—-— [ mernhatrd-;rurﬂyj
Eu.hﬂhdﬂlﬂiﬂhlrwﬂlmmﬁubethimkmiﬁdaﬁ

1 1 7
83, (A + B's 2 days' work -{;E+ 12] T
Work done h?-l!- on 13th li-‘.lj' - "—. H"mﬂlll'lil'lﬂ work = rl—l] = -:I_I
1a W8 18 16

On 14th day, it is Bs turn.
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: _ " : 11_3
1 . At i done by B in |12%— | = = dey
= work is done by B in | day —— work is e by “‘[ 6, 4

Total time taken = 13% daye.

|‘1+1 21

54. (A + Bl 1 day's work = |-E-A+Ghlhj'iwurk [1 1]=—E.

|11 20, 11 &6, 55
ik b b | AN B O 2

EEII 85 20 4

1
\I-u.wq wark is done by A in 3 days.

s Whole work will be done in (2 x 4) = 8 days.

55, A's 2 days’ work - |§H!E]--1—
(A + B+ Crs 1 day's work

1 1 1
Work da = -,
ne in 3 days = []ﬂ ]Er]

1
Now, & work fs done in 3 days.
.. Whole work will be done in (3 = 5 = 15 days.

1 ]
- ‘s G d b o= 6| = = = Crs 4 k=—;
B&. (A + Bl's & days’ wor [m ]5] = A+ Crs 4 days wor Fort

3 1
¢A+Cfsldmwk=-ﬁ. A's 1 day’s work "3
s 1 day's work = [-E———i- abis,
40 20, 40
Henee, C alome ean finish the work in 40 days.
5T. Suppose the work was finished in x days.
ﬂmn.hﬂ:—ﬁ!ﬂm'u work = B's (x - 12) days’ work + g x davs’ work = 1
(-8 (== 1‘.!:-
36 54
& l8x =312 0r x = 24
38, 120 = 16} women &&n complete the work in 1 day

=

E -1 s Blxr-Rl+4(x-12)+3x = 216

1
s 1 woman's 1 day's work = —
.idl.'l

{16 x 15} men can complcte the work in 1 day
1
1 | E = —.
man’s | days wor

=0, ired matio = ——=—— =
o 24D 320

1
59. 10 men's 1 day's work = ili-. 156 women's 1 day’s work = TS

1 | 9 a
{10 men + 15 wemen)s 1 day’s work = [ H] %0

= EE- days.

10 men and 15 women will complete the work in 3

Ble



Cuanidative Aplituce

A, tTtlE}mmmmmplmuEmn-kinldu

61.

1
1 man's 1 ‘e h o= —,
& 1 daw's wor T,

7T men's 5 daye’ mh-k"[—rﬁl 152 Hnmﬂhin:wurh~[1-f;J1%.
' i {1 -
5 men's 1 day's work -Lﬁ;“ﬁjz A

3 work is done by them in 1 day

B4

T B 7 49 4

_ k is don —_| T — = O_ daps
T work is ehrthamm[ﬁ LJ] = days - days

1 man®s 1 8 work = —__
% 1 day's wor 105

12 men's 6 days” work '[%HE]

I;-'!‘lla.-

- Remaining work = [ E] = %

i’ = 1 l.l
18 men's 1 day's work _{m—axw] H

1
g work is done by them in 1 day

i— work is done by them in [Ex%] = 2 days.

Let 1 woman's 1 dav's work = x
Then, | man's 1 day's work -% and 1 child's 1 day's work -%.

E}. [E{.*Iqﬁ}.lﬂﬁrl —h x:l:}.ui):l.l
2 1 T 4 T 7T 28] 48

1 woman alone can complete the werk in 49 duys,
k1
Eu,hmmpkﬂtﬂwﬂh?ﬁaﬁnmhrnfmnmmd -(-JI-FBJ-.T_

{
(1 man + 1 woman)'s 1 day's work --|;+‘1J-%.

Work done by 1 man and 1 worman in%dﬂ.}- =(?-;.;l]=. i

12 4 44
1
Rﬂmlim'ngm ~ [1—%] - :I_l

wnrhdumh}rlhlym - d&f'[%hﬁ%] %

Number of boys required = I#rm] - 41
LY

- 1 man's 1 dav’s work = Téﬂ {10 men + 15 women)s 1 day’s work = é

1, 10 f1 1 1
16 women's 1 duv's work = ____] - | =
¥ [B 164 -,ii IDJ 16
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1
1 woman's 1 day's work = —.
285

1 weman alone can complete the work in 225 days.

65. 1 man'e 1 day's work = -:'E; i1 woman's 1 day's work = %

& men's 2 days” work ={:ﬁﬂ-r1} = -} Remaining work = [1_%] i

|
:

1
Hmﬁ—n work is done in 1 day by 1 woman

Hn.-i-mkwiﬂhminamsw(mr%x%]zlﬁmm
1

88 1 child's 1| day's work = l%l' 1 adult’s 1 day's work = %

Work done in 3 daya = {'E_:E nlli:u:ﬂ] - % Hemaining work -{1—&] - ;

: 6 4 1
6 adults + 4 children)s 1 day's work .[ﬁ+ E] = ﬁ'

1
12

% work is done by them (lﬁx%]-ﬂdl.‘ﬂ.

work iz dome by them in 1 day

1 b 1
& % k i "] B —
&7. 1 woman's 1 day’s wor = 1 child's 1 day's work 140
. (6 10 I 1
5 10 1 Y DR L 2L e
(5 women + 10 children)s 1 day's waor 70 + Hﬂ] [H " 1-1.} -
£ women and 10 children will complete the work in 7 days.

&5, 'Jm&n"sl-dur'smrh=—l—: 11:111111‘31:[;,;-*!!':-&:—-1—

182 4327
i 12 B 1 Y. 36
Wﬂftdﬂm n 8 -E ——-—1-&. — e . | W e
' . [m ) [15 %) 5t

Remaining work = [1 -

(12 men + 11 children/’s 1 day’s work :(13 _11], 18

192 a3z 218
Mo, Ell?ﬂ work is dome by them in 1 day

19 work will be done by them in {EL&J-HE] = 4 days.
B4 18 54

89, 1 man's 1 duy's work = E!%li 1 woman's 1 day's work -1—

a8
Work done in 12 days & 1?[% r%} = [lﬂ.xq—?ﬂ-] = %
‘\' o

s 3 _1
H:mmmnirwnﬂt-[ _Ij_ rE



| 3 b’
(16 men + 16 wamen)'s 2 days’ work = 2| 12 o B (ﬂxilz %.
Recsning wor - (11
4Bl B

1
amq ™ork is dome in 1 day by 1 man.

354
1 : f 1 11
= wnrimilho:tﬂntiﬂﬂ‘ﬁyshrk%:—?:-—.=2# mer.
L3 & 2)
70, L-utlmm‘aldnfsmh=:and1huﬂldafs wark = ¥

1115||,!5:+Ej=1ix+}r} —_ _1:'_2'-,,- = E;%
¥

T1. Let 1 man's 1| days work = x and 1 boy's 1 days work = x
Then, 12¢ + 16y =£ and 13r + 24y = ‘l

E‘ﬂl'i"iﬂl“mmllmlﬁﬂnl,w-m:t; ,:'-—'1'—.|_-|-_|.|ﬂ__-!,|-:|2‘—]:'“F

100
Required ratio = x: v = L =21
¥ oo 0o -

72. Let 1 man's 1 day's work = x and 1 woman's 1 day’s work = y,

Then, 4.:+Ey-§md3:r'?y=-1—.

1d
5 : 1 1
thase tw = N b < g G
Salving these ¢ equations, we get ; x gt 200
1
1 y i
women's 1 day's work T
= Iﬂwm':ldnf;-u:t.[-l-xlﬂ1:'=i,
400 ) 40

Hance, 10 women will complete the work in 40 days,
'i’!.Lﬂlmun'a.lhuu:':wm-k=x;lw-um;n‘alhnur‘aw]:-y
and 1 boy’s 1 hour's work = z Then,

x+dy+dz = 3 wld) Ix 4Bz = 1 A Rxe3y = J;_‘l_ 1]
Adding (1] and (/) and subtracting (i) from it, we get : Ax+ 4z = E}E sl 1)
§ : 1 i 1 1
F d P - tuu H 7 _.E ¥ B ————

rom (if) and (iv), we get x = — Substituting, we get : ¥ ' *
) 12 i 1) 11
H‘ l = — i — = ——m —l W —
{6 men + 12 boys/s 1 hour's work {ISEI HE&] [ﬁﬁ - e

4 men and 12 boye can do the work in % LA, EH% hours.
T4 htlman':ld:f:wnrlrxmdlbuy‘s]d.ﬂwk=j:

Then, Bx+8y = %m 28x + 48y = é
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i ! 1 1
Solving these two oquations, we get © x = — and y = —.

100 . 200
|
(15 men + 20 boys’'s 1 day's wowrk = [li-nﬁﬁ + %J = %

15 men and 20 boys can do the work in 4 days.

e e A — — — — — — — T T T T — — . . — ——— — ——— —

EXERCISE 15B

(DATA SUFFICIENCY TYPE QUESTIONS)

Dircctions (Questions 1 to 4) : Each of the questisns given below consists of a
statement and/ or & question followed by two statements labelled I and II. Read both
the statements and

Give apswer (&) if the data in Statement | alone are sufficient to answer the
question, whils the dats in Statement II alone are not sufficient to answer the question;

Give answer (b) if the data in Statement IT alone are sufficient to sanswer the
question, while the dets in Statement [ alane are not sufficient to answer the question;

Give answer (¢} if the data either in Statement I or in Statement II alone are
sufficient Lo answer the guesiion;

Give answer (d) if the dats even in both Statements | and [l together are mot
sulficient to answer the quesiion;

Give answer (8] if the data in both Statements | and II fogethor are neceéssary to
answar Lhe guestion.

1. How long will Machine ¥, working alone, take to produce x cendles 7 (M.H.A. 2002)
I. Maching X produces x candles in 5 minutes.
11, Machine X and Machine ¥ working at the zamo time produce x candles in 2 minutes.

2 B alone can complete a work in 12 days. How many days will A, B and C together take
o complete the work 7
I A and B together can complete the work in 4 days.
I1. B and (¢ topether can complate the work in & days.
3 Iz it cheaper to employ X to do a certain job than te employ ¥ 7
1. X is paid 20% more per hour than ¥, but ¥ takes 2 hours longer to complete the
Jjub,
I1. X ir poid Be. B0 per hour
4. A and B together can complete a task in 7 days. B alone can de it in 20 days. What
part of the work was carried out by A 7 (M.B_A. 1998)
I. A completed the job alone after A and B worked together for 5 days.
11. Part of the work done by A could have been done by B and C together in 6 days.

Directions (Questions 5 te & : Each of the follewing questions censists of a
question follewed by three statements I, IT and III. You have to siudy the question and
the statements and decide which of the statemeni(s) is/are necessary to answer the
question.

5. In how many davs ean A and B working together complete a job 7
[. A alone can complote the job in 30 days.
[I. B alone can complele the job in 40 days.
[il. B takes 10 days more than A to complete the job.
() [ and IT only ikl 11 and I enly (¢ 1 and III only
id1 Any two of the throo fed All T, TT and IT1
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6. In how many days can the work be completed by A and H togother 7
l. A alone can complete the work in & days.

I1. IFA alone works for 5 days and B alone works for 6 days, the work gets completed.
LB alone can complete the work in 16 days (Bank BO, 2003)
(&) I and IT only (5 11 and 100 only (&) Any two of the three
(d) IT and either [ or 111 (ef MNone of these

7. How many workers are required for completing the construction work in 10 days 7
I. 20% of the wark can be completed by § workers in & ehaws
Il. 20 workers can complete the work in 15 days.
. One-eighth of the work con be completed by 8 workers in 5 days. (Bank PO 2003)
v [@r I only B 11 and ITT omly () 111 anly
fd) I and 111 only (@ Any one of the three
& In how many days can the work ba dons ¥ 9 men and 15 women 7
L € men and & women can complete the work in 6 days
Il. 3 men and 4 women can complete the work in 10 days.
ITl. 18 men and 15 women can complete the work in 2 duye.

(2] T nnly (B AL I, I and 111 {c) MAny Leo of the thres
(o) Ary ong of the three (e} None of these
8. In how many days can 10 women finish a werk 7 (H.B.L. 2002)

I. 10 men can complete the work in 6 days,
IL 10 men and 10 women together can complote the work in 3% days.

HL If 10 men work for 3 days and thereafter 10 women replace them, the rEmaining
work is completed in 4 days.
(o) Any two af the three (8 I and I only (el 11 and IIT only
(e 1 and IT1 only (&) None of these
Directions (Questions 10-11) : Each of these quastions is followed by three statements,
Fou have to study the question and all the three statements given to decide whether any
aformation provided in the statementis) is/are redundsnt snd can be digpensed with
vhile answaring the given guestion.
10. In bow many days can the work be completed by A, B and C together *
I. A and B together can complete the work in & days.

[1. B and C togother can complete the work in 3% days.

L. A and C wgether can complete the work in 3; days, {(8.B.L.PO. 2001)
ia) Any ene of the three (b 1 only
(e} II only (el 1IN omly

{8l Information in all the three statements is neceszary to answer the gquestion,

11. 8 men and 14 women are working together in a field. After working for & davs, 5 mon
and 8 women leave the work. How many mwre days will be required to complete the
work ¥ (2B.1LFO. 1995)

l. 18 men and 12 women together can complete the work in 18 days.

II. 16 men can complete two-third of the work in 16 davs.
IIL In a day, the work done by three men is equal to the work done by four wemen.
izl 1 enly Lbi 11 only [el 111 only
{(eh 1 ar I or 111 (e 11 or 111 only
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ANSWERS

1. (sl g (& & id 4. (a) 6. (d) 6. (e 7. e 8, ic)

9. (@) 10L (g 1L id)

I ——— —— M T s — —— N — —— S —— r—

I
1 1 gives, Machine X produces 3 candles in 1 min.

r -
I gives, Machines X and Y produce 3 candlps in 1 min.

From | and I1. ¥ produces [i-% E-.'-.!4.'|:ut|1||!'|ii1'| 1 min.

375" 10
ax a :
i candles are produced by ¥ in 1 min.

: o fpEl N8 s A v
x candles will bo produced by Y in = % ¥ | min = = min.
&

Thus, | and 11 both are necessary to get the answer,
& Correct answer iz (a8l

2 (iven : B'g 1 day’s work = >t

12’
1
If.'i.‘-'E'a. ':.A-+|3:|15'.|.|h:|l’$ wiark =E-
3 ol =
-hﬁ‘:lﬂau'swnr'k—[a E] - Shey,
1 T
I gives, (B + C'a 1 day's work = i = % 1 days work = T

: g Ao o 5
s 1A+ B+ Crs 1 day’s work [4+12*EJ T

Hence, they all finish the work in 1?'5 = Ei days.
Thus, | and [1 both are neseszary Lo getl the answer
s Carreel anawer 18 (el
3. Suppose X takes x hours and Y takes (x + 2) hours to complete the job.
II. X is pmid A R0 per hour
Total payment to X = Rs. (B0x).

120 g 5
g ol Yo —=TY==Y = ¥Ta-—
L X 120% o |.'I:H'.'I1=r : ¥ 51

—.

12

f |
Yis p-]_'id s, igrﬂ!‘“]'p&r howr = '!I.'ispl.id. RR.[EE-':IIZI'E]]
| J :

We cannol eompare (80x) and ?;ﬂ {x + 2L

s~ Correct answer is (d).
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. B‘alda.y‘uwn:ks%. (A + BYs 1 day's 'work -%.

Ltﬂ.iﬂ}’sﬁdaﬂﬂ'k—g.ﬂtmiuingwnrh-il g]“%
2
;wﬂtmurﬁuﬂh}'h
IL i irrelovant.
& Correcl answer is (a).
6. L A can complete the job in 30 days.

f
ﬁhidﬂj".lﬂﬂrk:—]__ Reminining work = I—EJ:
0 V-

| B

IL B can complete the job in 40 days.

1
B’ = —
s 1 day's werk T

[I. B takes 10 days mere than A 1o complete the Job.
1. ¥Y . 7
I and IT gives, (A + BYs 1 day’s work - (-EF]--PEJ TR
I and IIT alsp give the same answer,

il and [l also give the same answer
Correct answer is (d)

8 L A can complete the job in & days So.ﬁ‘sldmr‘u.wnrk-é.

II. A works for 5 days, B works for 6 daye and the work is completed.
II. B can complete the job in 16 days. So, B's 1 day’s work = ﬁ.
Land 01 : (A + BYs 1 days work = 1+ L| - 3
Both can finish the work in = days.

Il and III : Suppose A takes x days to finish the warlk.

(A +BYs1d e=[ge]=2
bttt T

18
Both can finish it in ¥ days.

I and IT : A% 1 day’s work :—;-. Buppose B takea x days to finish the work

% I" 5
Thn&nmll,[ﬁr-l-+ﬂxl_1| ; E:[p_""']a?. SR | 11,1
B x J I 5 B

k A

LA+HP31dBﬂwrk—l%r%]— =

Both can finish it in % days.

Hence, the correct answer i ()
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S %3-] Wnrlmnhemmnhmdhyiﬂrmwn.rhmmldq:
= Whale work can be completed by (8 x B x 5) workers in 1 day
; 5“1‘;“5 workers in 10 days = 32 workers ia 10 days,
0. (20 = 16) workers can finish it in 1 day
‘W:’“" workers can finish it in 10 days.

= 22 workers can finish it in 10 days.
m. % work can be completed by (8 x 5) workers in 1 day

=5 Whole work can be completed by (8 = § « 8) workers in 1 day

_ Bx5xB
10
Any one of the three gives the anawer

workers in 10 dave = %2 workers in 10 days.

- QCorrect anawer is (&,
B. Clearly, any two of the three will give two equations in xand w which can be solved
gimmultanesusly,
Correct angwer ig (£,

E_Fﬂrmple I and [T mgﬂhzrgive[ﬂ.:-pﬁj = % Ax +dy = %]}

9. L (10 = &) men can complete the work in 1 dax

1
1 2 1 day's work = —.
= man \ 50

)
1I. Jl:lihc %} men f{lﬂ ‘%‘J women can complete the work in 1 day

- [#] mn‘aldﬂ'wﬂ+i¥w

o

women's 1 day wark = 1

\
[% P %J + (ﬂg] women's 1 day’s work = L

[ 7
s b
- o wnmr.n‘aldnfuwk-[l—i -
T 7] 7

N

7
= 10 women's 1 day's work = [%xﬁxlﬂ) - %

Bo, 10 women can finish the work in & days.
0L (10 men's weork for 3 davs) + (10 women's work for 4 days] = 1
= (10 x ) men's 1 day's work = (10 » 4) wemen's 1 day's work = 1
= 30 men's 1 doys work + 40 women's 1 day’s work = 1.
Thus, [ and [T will give us the answer.
And, TT and @I will gove us the answer,
Correct angwer is {aj.
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10. LM+nJuimwm-ﬁ%_

Efﬂ+ﬂ}'ald.lf:w&rk=f§.
I (A + CFs 1 day's work = %.
|" W
Adding, we get 2 (A + B+ CFs 1 day's work .L%...l“_ﬁhl%]:%
= (A+B+Cls1 daye work :[%n%]:%.

mmnmcwrmmmmm%mm
Hence I, 11 and I1I are necessary to answer the question,
Correcl answer is (e,

ii Clearly, | only gives the answer.

Similarly, II only gives the answer
And, lil only gives the answer

el S —



